SSC Stenographer Practice Questions

1.

Q1. Select the related word:
Book : Reading :: Pen : ?

a) Writing

b) Drawing
c) Ink

d) Stationery

Answer: a) Writing

Q2. Which number will come next in the series?
3,6,11,18,27,?

a) 36
b) 37
c) 38
d) 39

Answer: c) 38

Q3. Who is the author of the book 'India Wins Freedom"?

a) Jawaharlal Nehru

b) Mahatma Gandhi

c) Maulana Abul Kalam Azad
d) Sardar Patel

Answer: c) Maulana Abul Kalam Azad

Q4. Identify the correctly spelt word:

a) Consciencious
b) Conscientious
c¢) Consientious
d) Conscientiouse

Answer: b) Conscientious

Q5. If A is the brother of B, and B is the sister of C, how is A related to C?

a) Brother
b) Sister



e ) Cousin
e d) Cannot be determined

Answer: d) Cannot be determined

6. Q6. Change the voice:
'"The boy is singing a song.'

e a) Asong is sung by the boy.

e b) A song is being sung by the boy.
e () A song was sung by the boy.

e d) A song has been sung by the boy.

Answer: b) A song is being sung by the boy.

7. Q7. The term 'GDP' stands for:

e a) Gross Domestic Product

e b) General Domestic Product

e ) Gross Departmental Production

e d) Government Domestic Production

Answer: a) Gross Domestic Product

8. Q8. Choose the correct synonym of 'Abandon':

e a)Leave

e Db) Capture
e ) Control
e d) Demand

Answer: a) Leave

9. Q9. Complete the sentence:

He is honest man.
e a)a
e b)an
e )the
e d)one

Answer: b) an

10. Q10. Which planet is known as the Red Planet?



12.

a) Jupiter
b) Venus
c) Mars

d) Saturn

Answer: c) Mars

. Q11. Select the odd one out:

a) Apple
b) Banana
c¢) Carrot
d) Mango

Answer: c) Carrot

Q12. Which number should replace the question mark?
5,10, 20, 40, ?

a) 60
b) 70
c) 80
d) 100

Answer: c) 80

. Q13. Who was the first woman Prime Minister of India?

a) Sarojini Naidu
b) Indira Gandhi
c) Pratibha Patil
d) Sushma Swaraj

Answer: b) Indira Gandhi

. Q14. Choose the antonym of 'Expand':

a) Enlarge
b) Increase
c) Compress
d) Magnify

Answer: c) Compress




15.

16.

18.

Q15. Spot the error:
She has completed / the assignment / yesterday.

a) She has completed
b) the assignment

c) yesterday

d) No error

Answer: a) She has completed

Q16. Convert into indirect speech:
He said, 'l am busy now.'

a) He said that he is busy now.
b) He said that he was busy then.
c) He said he would be busy now.
d) He says that he is busy then.

Answer: b) He said that he was busy then.

. Q17. The full form of UNESCO is:

a) United Nations Educational, Scientific and Cultural Organization
b) Union of Nations for Education, Science and Culture Organization
c) Universal National Education and Social Council Organization

d) United Network of Education and Science Coordination Office

Answer: a) United Nations Educational, Scientific and Cultural
Organization

Q18. Choose the correct synonym of '‘Benevolent':

a) Cruel

b) Kind

¢) Harsh

d) Arrogant

Answer: b) Kind

. Q19. What is the capital of Australia?

a) Sydney
b) Melbourne
c) Canberra



e d) Brisbane

Answer: c) Canberra

20. Q20. Identify the correct spelling:

a) Acomodation

b) Accomodation

¢) Accommodation

d) Accommadation

Answer: c) Accommodation
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